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‘ic.p()]icy makers on the effect of changes in aggregate demand is: A)
Rostow’s model B) Multiplier model C) Harrod Do 1 ) WAFA modcl

B) Crowding out hypothesis C) Credit
3. The locus consumption bundles é‘tfé;;gcl
Indiffcrence curve D) Price con: i

e tota! utility-is:  A) Kinked demand curve B) Revealed preference curve C)

5 According to Keynesia 4 1alysi nsysiption is a function of : A) Permanent income B) Estimated life time income C) Previous
income D) Current inco ' :

6. What will be th y in a two sector economy if saving function is represented as S= -5000MF +0.4Y and investment by
A) 35000MF B) 40000MF. C) 10000MF D) 20000MF

es direct taxation by one billion frs and at thc'samc time increases its own expenditure by one billion. The
awal is 0.4 what will be the effect on national income A) It will rise by 1 billion B) It will remain unchanged
1 billion D) It will rise by 600 million

& ntral assertion of monetary economics? A) The velocity of. circulation of money is unstable over time B) Fiscal policy
ised for the continuous management of the economy C) Money sipply dominates the determination of aggregate monetary
ture D) Major recession can occur despite an unchanged money supply

ex} di

9. What is the specialization location quotient for Kumba in agriculture given that in Kumba, 90% of its workforcc is employed in
agriculture compared to 60% at national level. A)135 B)3 C)2D)1/3

10. The following are millennium development goals except A) Eradicate extreme poverty and hunger B) Develop a giobal
partnership for development C) Achieve universal primary education D) Better working conditions in Africa

11. One of the following balance of payment solving mcasures gives rise to the J—curve effect. A) Import controls B) Devaluation €)
Depreciation D) Deflationary fiscal policy




"Raise investment schedule and raise national income

www.touslesconcours.info
THE NEW APPROACH TO MCQs IN UPDATED EDITION, JUNE 2015

E.N.S/ENSET BAMBIL & KUMBA N.B.M (B.Sc., DIPET II IN ECONOMICS)

12. Marshal-Lerner criterion for devaluation to improve the balance of payment position can be represented mathematically as follows
(EX=Price E¢ Export and EM=E* for import) A) EX+EM=1 B)EX+EM=0 C) EX+EM=>1 D)EX+EM<1

13. Faced with a demand inflation and current account deficit, which of the following policy measures might simultaneously reduce
both problems A) Reflation B) Deflation C) Revaluation D) Devaluation

14. This question is based on the data of the national debt of country Y. National debt = 200MF, Internal national debt= 125MF,
External national debt = 75MF. What fraction of the national debt constitute the real burden? A) 62.5 B)37.5 C) 60 D) 40

15. Which of the following will likely cause decrease in a country’s reserve under a fixed exchange rate? A) Increase in investment by
the country’s residents  B) A current account surplus  C) The SDRs by IMF D) Support of the currency by the central bank-

16. Let Px represent the price of exports and Pm the rate of imports. Then the terms of trade (TOT) are said to be favgﬁuﬁﬁlc if-3

P Px Px
B) Pm<1. ) Pm#l

Pm>1

17. What will be the yield by a government bond sold for 2 million CFA if its price has fallen to 1.2 mlil%?}”.‘(CEA zmd '!ES;anIE‘al

interest rate is 3%. AY 5% B)3.5% C)10% D)85% ‘én‘ Vi .

ﬂ&_ {
18. A country experiences a significant growth'in its productivity. What is likely to result from.this? K)%Iqricrease in the county’s
balance of payment B) A depreciation in the country’s currency  C) Increase in the ptoplc s S{an" flxvmg D) Increase in the

country’s relative cost of production.

19. According to the liquidity preference theory, what will be the result of a reductiondn tfa?;prices o:i' bonds? A) A decrease in the

supply of money B) A reduction in the quantity demand of money C) A fall in t%efm Srest rate.«D) An increase in the demand of
T

money.

20. In a two sector cconomy, the saving and investment functions are asf 1=3+0.1Y. What will be the

equilibrium level of income. A) 70 B) 80 C)90 D) 100

e . -
21. If the monetary authorities pursued an “easy” monetary policy. 'v%oul tend to: &) Raise the investment schedule B) Raise both the
investment and savings schedule and leave national income uncha \ d CyTower the investment schedule and raise national income D)

23. Who will benefit from a depreciation of the Fr né
French holiday makers visiting Cameroon C) A ,nfan manufacturer exportmg to France D) A Cameroonian real estate
company owning property in France.

the economy ride out a depression is: A} Run a deficit by lowering taxes and
it by eliminating expensive projects C) Balance the budget every year D) Increasing

10million frs.

in equilibrium with national income of 100million frs and a capital of 25million.frs. AD increases by
0 %%’%
million.

ccelerator principle, by how much will net investment increase? A) 10 million frs B)5
D) 2 millions i

27. In4n eco arge scale unemployment, what will be the effects of a decision by consumers to i.nc:rea_sé their saving ratio?
’decrease in unemployment B) It will lead to a decrease in NI by a multiple of the increase in saving C) At first to

In an economy with MPC of 0.8Y and MRT of 0.25Y,it decided to raise Y by 1000million frs. Other things remaining equal, it will
be neg?gssa.ry to raise government spending on goods and service by A) 200 million frs B) 250 million frs' C) 600 million s D) 400
million frs.

29. Which of the following theories have deeply influenced development policies and led to major emphasis on family planning a2nd
fertility? A) Rostow’s model B) Malthusian theory C) Keynesian theory D) Boserupian theory

30. In general as output rises you first attain: A) Increasing returns, then diminishing retums, negative returns B) Diminishing retuims,
negative returns, then increasing returns C) Constant returns, then increasing returns, then negative returns D) Increasing returns then
negative returns, then diminishing retumns.
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31. The most technically efficient output of a firm is located: A) At the shutdown point B) The break-even point ) Where MC=MR
D) Where the vertical distance between AVC and ATC is at a maximum.

32. In which situation are there definitely positive externalities? A) Private benefits exceeds private cost B) Social benefits exceeds
private benefits C) Social benefit exceed private cost. ' '

33. The ince_:ntive to let other people pay for a public good while you enjoy the benefits is known as- A) Social benefit B) Free rider
problem C) Social cost D) Benefit received principle.

34. A situation where reallocation of resources makes atleast one person better-off without making anyone else worse-off is known as:
A) Parcto improvement B) Pareto efficient C) Pecuniary externality D) Perfect price discrimination y,

35. By definition, variable cost (VC) is related to total cost (TC) and fixed cost (FC) by the equation: A) VC=TC+FC BYVC=TFE:+FC=

[WHAT IS SUPPOSE TO BE HERE IS VC=TC-FC] C) VC=TC/FC D) VC=TC).(FC)

i
What is the

36. A discount house pays 9700frs for a bill of exchange whose face value is 10.000frs and which is due in 90 d:_{

discount rate? A)S5% B) 12.3% C) 12% D) 10% -
o

37. If LA represents the bank holding of liquid assets and r the required liquid assets ratio, then follbjajng an’increase in LA, the

maximum possible increase in‘deposit will be equal to: NI it C)s— D)RxALA

LA

i, .

38. Relative weights are used in calculating index of retail prices to reflect the different: A) %ﬁmts of'g‘iengy spent by the consumers

on each food B) Levels of price for each food C) Number of people buying each good D) Rates of changes in price of each good over
time e :

& B °
39. A govemment uses monetary policy in/an attempt to keep actual unempl’c;;a@g\m &%ﬁ}t}nuously below the “natural ate of
unemployment”. What is likely to be the consequences of this policy? A) An.accelerating.rateof inflation B) A low but constant rate
of unemployment C) A high but constant rate of inflation D)A deceleratinﬁ‘a ofii ti%

e

reduce a ctﬁgent account? A) Revalue the currency B) Deflae

40. Which of the following policies is a country likely to adopt in ordefto:
the economy C) Raise interest rate D) Impose import controls = .

Y

{%ans for countries with balance of payment problems B)

ancial help and advice to developing countries D) Reduce the

41. World Trade Organization has a major objective to: A) P&sho
Achieve an orderly pattern of world currency exchanges €) Providé
‘general level of protection in world trade. R

¢ the private benefits derived directly by consumers. the govemment
Impose a specific tax on the good C) Impose ad-valorem tax on the
sold.

42, Where in the production of a good there are social.benefits
may: A) Grant a subsidy towards the production o “the's
good D) Control the maximum price at whiih the goods

gmwng,iabou: productivity. What is likel§fto result from this? A) An increase in the

43. A developing country experiences a rap
e if"the country’s relative costs C) A depseciation of the country's currency D) An

o W automatic stabilizers to work? A) Adjust taxes in érder to achieve a balance budget B)
tes unchanged C) Lower both taxes and government expenditure in slump D) Lower taxes in a boom

45. The followig% arc: es of VAT except: A) Flexible B) Regressive C) Inflationary D) Selective

46. Countrh X Joins an ¢ sting custom union comprising Y and Z. X’s initial tariff is at the same level as custom union’s common
4 sdikely to be the effect when X joins custom union? A) It will result solely in trade creation B) It will resultsolely
in ' sion &) It will result both in trade creation and trade diversion D) It will leave the existing pattern of trade between Y and
Z uni ged, :

- l of loanable funds is significantly -ir_}ﬁuenccd by: A) Commercial banks B) Mortgage banks C) Financial intermediaries
e central bank, ;

48. Petroleum “glut” in international trade means: A) A fall in petroleum production B) An oversupply of petroleum C) A higher
petroleum price offered by the buyer D) Higher prices for the consumption of petroleum

49. For improvement in the welfare of the people, a high production level is not enough because: A) Have-nots deserve more than a fair
share B) Equitable distribution is necessary C) Productive efficiency is vital D) Savings in the economy must be guaranteed at more
than 50% of income eammed. '

50. The equation AD=CH+G+X-M represents total expenditure. Which of the above items is both autonomous and endogenous! A) Y
BM OG DC
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DEPARTMENT OF ECONOMICS COMPETITIVE ENTRANCE EXAMINATION: 2013
SECOND CYCLE Major: ECONOMICS
Time allowed: 3hrs
Instructions: write only the letter that corresponds to the right answer. ;
1. Private goodsediffer from public goods in two ways. What are the two characteristics that differentiate publieg
private goods?

Rivalry and excludability; B. negative externality and positive externality.

Marginal cost and marginal benefit; D. A moral] hazard and adverse selection problem

N

be:
A. Subsidized; B.Prohibited; C. Taxed; D. Left alone.

Questions 3, 4 and 5 are based on table 1 below, which depicts the quantity of rice supplied (Qs) and dcma’
Pnces(Frs) 4 5 6 7 8 r
Qs(tong) [ 7100 140~ 180 220 260 | %300
Qd(tons) 400 340 280 220 160 & m‘b
3. Refer to the above data. If government adoptsa price support program that se %ﬂ;ﬁ: at 8 ﬁhcn there will be a:
A. 'Shortage of 100 tons of rice; B. surplus of 100 tons of rice; L
B.  Surplus of 200 tons of rice; D. surplus of 300 tons of rice, \%%/
4. Refer to the above data. If government adopts 2 price support pro the price at 9, then the amount that private
buyers will pay for the agricultural product is: :
A. 300; B.900; C.1,800; D.2,000
5. Refer to the above data. If the government adopt a price pro that sets'the price at 9, then the amount that government will
pay to producer for agricultural product is; % . '
. A 300, B.900 C.1,800; D.2,000 —
6. Compared to a purely competitive firm, monopolist f%ay: 7
A. A higher wage rate to its workers; B. Lower ¥ hzres more workers than the purely competitive firm;

lower wage rate but hire fewer workers than th -ﬁu p titive firm; D. lower wages while hiring the same quantiry

of workers as the purely competitive firm.

7. Assume that a consumer purchases a coribi

and appealing product. The MU/P = 40 a
should: Y ;

A. "Make no change in A and B; B Pu:chase more of A and less of B;  C. Purchase more of both A and B:

Purchase lessof Aand more of B~ % © . e

é?ﬁm: o %‘ngfo ‘iy?

e producers; C. Product standardization; D:Mutual interdependence

0 odel there will be a vertical break in the firm's:
curve;  C. Demand curvc; D. Average total c_os_t.curvc.

limit pricing; C. price leadershlp, D. setting a profit maxtrmzmg price.

-ty inelastic.

Fhemmbeonce T 14 o 2 9 7% - 2 - = s e = e & .

k-
If some activities creates external benefits as well as private benefits, then economic theory suggests, that the %vn ought to

§ducts Product A is an old and reliable product. Product B is a new
To maximize utility without spending more money, the consumer

lluswe oligopoly assumes that : A. arivalry will ignore price increases and match price

& Mo opohsts A. Maximize MR;  B. sell where p>MC; =~ C. Are price takers; D. Confront demand ciirves that

p—
1
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13. When the firm is in equilib A int B s run, its average fix cost is: A. EH; B. DH; C. DE; D. DB

14. 'When the firm is in equilibrium I the short run. average variable costis: A.EH: B.DE; (. DB: D.BH

15. When the firm is in equilibrium in the short run, the amount of economic profit per unit is:

A GC B.DE; C.DH; D.EH 5 ;
Question 16, 17 and 18 are based on table 2, which shows quantities of x and y with their respective marginabatilities f&?ﬂq_{to’nsumcr.
The price of produet y is 2frs. The income of the consumer 15 201rs. 3w -4

Quantity 1 2 3 4 { S\ ¥ ¥
MUx 32 _ 28 24 20
MUy 24 20 16 12 S| /%
16. Refer to the above table. If the consumer can only buy product x, how much will the eonsumez.buy and what will be the total
utility? - ¥
4x and 20; B. 4x and 104; C. 5x and 16; D. 5% and120 4

17. Refer to the above table. If-the gonsumer buys both product x and PdeUC,['jﬁ%h?‘;“iPU?h T-}.’fi] the consumer buy of each to
maximize utility? £ s

A, 3x and 4y B. 2x and 4y; €. 4x and 3y; D. 5x and 3y R 2
18. Refer to the table above. When the consumer purchases the utility—.ma‘(imizing-'c_o;pbinalion of product x and product y, total
utility will be: N
A 156; B:136; C. 89; D. 64 .
Question 19, 20 and 21 are based on the graph below, P 2 o
price na
b =
o
0 Q1 Q2 Q3 Quantity

19. Refer to the's gtap) € area of consumer surphis would be shown by the area:
A, Odc; ; C. pac; D. bec
20. Referdo th taph. The area of producer surplus would be shown by the area:
A ocQ;E, - "C.oac; D.bec
21. Refer

& aboye graph. The area maximizes the combined consumer and producer surplus is:
wadC; C. oac; D. bec : )
; €T nok inal GDP is 800 billion frs and, on average, each franc is spent four times in the €conomy over a year, the quantity
of mone¥ demanded for transaction purposes will be:
0(1%7’1%1‘011;'_ B.400billion;  C.200billion;  D. 3,200 billion
Fhe asset demand for money and the rate of interest are-
Both stable; B. directly related; C. unrelated; inversely related
- If you deposited 1,200 in a commercial bank which has an 18 percent reserve requirement, the bank will have increased:

A.  Required reserve by 106; excess reserve by 900; C. excess reserve by 1,200; D. required reserve by2 16

25. Assume the required reserve ratio is 16.61% and that the commercial bank system has 110 million in excess reserves. The
maximum amount of money which the banking system could create is: A. 660 million; B. 830 million; C. 1,040
million; D. 1,353 million

26. Fiscal policy is enacted through changes in;  A. taxation and gov’t spending; B. the supply of money; C
unemployment and inflation; D. Interest rates

27. An economy is experiencing a high rate of inflation. The govermnment want to reduce consumption by 36 billion frs to reduce "

inflationary pressure. The MPC is .75. By how much should the government raise taxes to achieve its objective?
A. 6billion; B.12 biilion; C. 15 billion; D. 16 billion

28. With a progressive tax system. as the level of income increases econom , the average tax rate will:
progr Y s Y. 24

8 B
e e TR
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Decrease; B. Increase; C. Remain the same; D. decrease, increase, or remain the same

An expected rise in the rate of inflation for consumer goods will: A. Decrease AD; B. Increase AS; C. Increase
AD; D. Decrease AS

If the CFA F depredates in value relative to foreign currencies, aggregate:

Demand decreases; B. supply and AD increases; C. demand increases D. supply and AD decreases

Supposed that an economy produces 500 units ofpmduc.!s It takes 10 units of labor at 15 per unit and 4 units of capital at 50
frs a unit to produce this output. The per untt cos§) roduction(in frs).is

0.70;  B.0.56;  C.0.42; oncours.info

If ihe government raises its cxpcndltures by 50 billion frs and at the same time levies a lump-sum tax of 50 billion, the net

effect of the economy will be to:

Increase GDP by less than 50 billion; B. increase GDP by 50 billion C. increase GDP by more than‘50 biliion-
D. make no change in GDP
Supposed the GDP is in equilibrium at full employment and the MPC is .80. If government want to 'mcrcaﬁe"ﬁe pwcla%’gf

goods and services by 16 billion frc without causing unemployment taxes should be: . T
Increase by 16 billion;  B. reduced by 16 billion;  C. increase by 20 billion;  D. reduce by 20 billion “”(‘%‘*””’ ®

In a necessary expenditure gap, the equilibrium level of real GDP is:  A. less than planned investment; I§ cﬁua’{ to full
employment GDP;  C. greater than full employment GDP;  D. less than full employment GDP ?.%“
In a saving schedule, the change in saving is always 2 billion frs and the change in income is alﬁiays lﬁ»_‘__ fioh
saving and income level. It can be concluded that: f
Slope of the consumption schedule is .8; = B. slope of the saving schedule is 2;
D. marginal propensity to save 5

Assume a machine which has a useful life of only one year cost 5,000. Also assume tbe additio venue from the output of
this machine is expected to be 6,100 after paying the operating costs. The expf%% rate of r;t:jn on this machine is:

25 percent; B.22 percent; C. 18 percent; D. 12 percent

A misméatch between the geographic location of workers and the location of“job gs would result in what type of
unemployment? & %%?

Walt; B.cyelical; C. structural;  D. frictional % %w %{

The view that union maybe a source of inflation would be best assd%’éd thé@\f

Supply-shock inflation;;  B. cost-push inflation; C. demand-pull mﬂ%zf;\%?&% D. wage-push inflation.

If the average level of nominal income in a nation is 45,000 frs and th Jj)m_:e level index is 180, the average real income
would be about: : ;
25,000frs;  B.20,000frs; - C. 15,000ftrs; D. 30,00
Arthur sells 100 frs worth of cotton to Bob. Bob turd th co! 'f’ t oth which he sells to Camille for 300 frs. Camille uses
the cloth to make prom dresses that she sells 10;D§mta s. Donita sells the dress for 1200 frs to kids attending the
prom. The total contribution to GDP of this se es»of transacu s is:

980; B.1200, C.23000; D.1100 '\@’gn
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